
ESTRUCTURA : GRUPO MOTOR	
 

GRUPO MOTOR 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

1 CAÑO DE ESCAPE COMPLETO 160-181000

1 CAÑO DE ESCAPE COMPLETO 161-181000

2 CARBURADOR 160-161000

2 CARBURADOR 161-161000

3 FILTRO DE AIRE COMPLETO 161-171000

4 TORNILLO DE CAJA HERRAMIENTAS M6X16 160-906104

5 DISTNCIADOR M8X45 160-902009

6 TUERCA M6 160-906124

7 TUERCA M6 160-906124

8 BRIDA DE ESCAPE 160-180001

8 BRIDA DE ESCAPE 161-180001

                        1 / 2

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo motor2.png


ESTRUCTURA : GRUPO MOTOR	
 

Ref. Título Código

9 CONJUNTO MOTOR COMPLETO 160-110000

9 CONJUNTO MOTOR COMPLETO 161-110000

10 TORNILLO DE CAJA HERRAMIENTAS M6X16 160-906104

11 TORNILLO DE CAJA HERRAMIENTAS M6X16 160-906104

12 TORNILLO DE CAJA HERRAMIENTAS M6X16 160-906104

13 FILTRO DE COMBUSTIBLE 160-162200

14 TANQUE DE COMBUSTIBLE 160-801000

14 TANQUE DE COMBUSTIBLE NEGRO MATE 181-80015

15 TORNILLO TABLERO INSTRUMENTAL 160-902007

16 TORNILLO DE CAJA HERRAMIENTAS M6X16 160-906104

17 GOMA APOYO TASERA TANQUE DE COMBUSTIBLE 160-904236

18 TORNILLO M6X16 160-906103

19 KIT CERRADURA 160-360000

20 GOMA APOYO DELANTERA TANQUE DE COMBUSTIBLE 160-904269

21 TORNILLO M8X16 160-906111

22 ROBINETE 160-802000

23 EMPALME CARBURADOR 160-100004

23 EMPALME CARBURADOR 161-100004

24 MANGUERA DE COMBUSTIBLE 160-162002

25 ARANDELA SOPORTE INSTRUMENTAL 160-906122

26 TORNILLO M6X16 160-906103

27 TAPA PIÑON 160-80005A

28 FLOTANTE, TANQUE DE COMBUSTIBLE 160-80010

29 COBERTOR ESCAPE 160-80000

 

 

 

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

